‘upiw wd| | wdp wdg wdg wdy; wdg wdg wdy wdg wdz wd| uoou wD|| WDQ| WDE WDQ WD/ WDG WOG WDy WDE wodZ wo| ‘upiw wd]| wdy| wdg wdg
00:%¥0 00:¢£0 0020 00:10 00:00 00:£Z 00:2Z 00:1 2 00:0Z 00:61 00:81 00:£1 00:91 00:Gl 00:+

S¥a

S¥:2Q

vea

v¢a

S¥:2Q

1 00:¢'1 00:¢1 001 1 000l 00:60 00:8000:£000:90 00:50 00:¥0 00:£0 00:¢0 00:10 00:00

00:20 00:L1 ISZ:60 Sv:0P
14%¢ v¢a ¥<a Lz
GGeY 00:¢1 G260
S¥:0P 0¢:8lL 01:60 G1:G0
JA4e ¥¢a <0 SvQa
00:04 0c:¢l G260 S¥:2Q
Gv:8l QZ:S0
G580
¥¢a ¥¢a
£9da
SviGl 0L:1Q
0L:50
S0:¢C og:11 G1:G0
Jx44] ¥<ad ¥¢a
0l:1Q 0S:81 Sv:6(Q Sv:Z0
00:0¢ 0¢:60 GG:0Q
£2a 14°1¢ JR4¢
0l:Gl 0¢:60
GG 0Q ov:0l G010
JA4¢ ¥<a Sva
ov:81 G160
GO:10 4 00:10
S¥a ¥Sa £2Q
00:1¢ OL:11

(1SQ) 0102 $¢ oom

¥£Z AOQ
ZZ/BO;OLOZ
ung

££7 A0Q
lZ/BO;OLOZ
105

27 A0Q
OZ/QO;OLBZ

1£Z AOQ
Gl/BO;OLOZ
nyj

087 A0Q
81/80;OLOZ
PaMm

627 A0Q
Al/BO;OLOZ
on|

827 A0Q
91/80;OLOZ
UOW



